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2011
ENGLISH LANGUAGE AND TECHNICAL
COMMUNICATION
Time Allotted ‘3 Hours . , Full Ma_lrks 270

The j‘ gures in the marqm mdtcate Sull marks.

Candtdates are requzred to give their answers in thelr own words

as far as practzcable

GROUP - A
( Multlple Choxce Type Questxons ]

Choose the correct alternatlves for the followmg 10x1=10

iy

1001

ii)

iii)

- The antonym of ‘ruthless’ is

a) -:enovated . - b) mighty

¢)  merciful | d) maximum.

#

o : 3
The synonym of Tectify’ is

a) 'remed-y | . b) avenge
c) | noisy = . | d) défeat.
If 1 ........ 'll.{ing, _I.wou'ld be .hé.hap.p.iest man on ‘earth.
a) was : . b). wére
. c) a.m | gk he
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iv)

V)

.Vﬂ

001

vii)

viii)

ix)

X)

I recommend that he ....... at once.
a) apologize b) ‘apolagizes
¢) apologized d) apologizing.

The word ‘unintelligible’ means

a) not intelligent . b)

c) annoying d)

not reasonable

not understood.

The single word for ‘A paper written by hand’ is

a) manuscript b)

c) notebook d)

handbook

script.

One living with the same time with another is

a) temporary k=t b)
c) permanent ' d)
The word ‘impeccable’ meaﬁs

a) question_ab"le : b)

c) - annoying - d)

contemporary

none of these.

faultless

pleasing.

In the long run an increase in .number of vehicles

causes oil consumption to

production resulting in e s

a) shrinking b)
c) depleting d)
That which cannot be burnt is
a) Incombustible bj

c) Inaudible d)

rise faster than oil

......... of oil supplies.

squeezing

freezing.

Indivisible

Tnaccessible.
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GROUP - B
(Short Answer Type Questions )

2. Read the following passage and then answer the
questions in your words.

As Nnaemeka walked home that evening he turned over in
his mind different ways of overcoming his father's opposition,
especially now that his father had gone and found a girl for
him. He had thought of showing his letter to Nene but
decided on second thoughts not to, at least for the mament.
‘He read it again when he got home and couldn't help smiling
to himself. He remembered Ugoye quite well; an Amazon of a
girl who used to beat all the boys, himself included, on the
way to the stream, a complete dunce at school.

T have found a girl who will suit you admirably — Ugoye
Nweke, the eldest daughter of our neighbour, Jacob Nweke.
She has a prdper Christian upbringing. When she stopped
schooling some years ago, her father (a man of sound
judgement) sent her to live in the house of a pastor where
she has received all the training a good wife could need. Her
Suriday school teacher has told me that she reads her Bible
very fluently. I impe we shall begin negotiations when you
come home in December.’

On the second evening of his return from Lagos
Nnaemeka sat with his father under a cassia tree. This was
the old man’s retreat when he went to read his Bible when
the parching December sun had set and a fresh, reviving
wind blew on the leaves.

‘Father,” began Nnaemeka suddenly, ‘I have come to ask for
forgiveness’.

‘Forgiveness ? For what, my son?’ he asked in amazement.
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‘It's about this marriage question?’
‘Which marriage question?’

LEeanT ... .. we must — [ mean it is impossible for me to marry

Nweke's daughter.’

‘Impossible ? Why ?' asked his father.

‘I don't love her.’

‘Nobody said you did. Why should you?' he asked.

‘Marriage today is different........"

a) What is the .passage all about? Swi2

b) Can you bring out the tension between the father and

the son?

c) Why does Nnaemeka not want to marry Ugoye Nweke ?
Explain this with reference to the statement ‘Marriage
e _

today is different....’

d) How is Nnaemeka's father's description of Ugoye's

character different from Nnaemeka ?
e) Can you guess the title and author of the story ?

f)  Write a précis from the given passage giving it a suitable

title. 5
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a)

b)
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GROUP - C
( Long Answer Type Questions )

Answer any three of the following. 3x 15 =45
Insert apprbpriate prepositions : _ B ]
i) Pepple:said shedied ...z .. cholera.
S B0 1 1 o o RS I R R e the corridor.
i) THe appleds sweet. . .......... 5. taste. |
iv), Tam-fed i inusse with your habit of complaining.
v) Pecople say he has a passibn .................. arguing.
Correct the grammatical errors : o x 1

i) My most favourite game is cricket.
+
ii) Despite of my qualification I could not get a job.

iii) The dinner was same as usual.

w)- The Dean . of Student -Weltare met _of  the

representatives from the student union.

v) I have applied for a visa for the American Embassy.
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c) Do as directed 5x1

1001

i) Pay me, or I shall send you to jail. (Rewrite

beginning with : Unless ... )

ii) 1 am writing in reply‘to your letter that I
received two days ago. (Rewrite beginning with:

lreceiped ......... = )

iii) I feel bored and | went out for a walk. (Rewrite

beginning with : Fegling ... 5....... )

iv) I refuse to answer any of your questions

 (Rewrite beginning with: She said ....... )

L7 | strpngly believe that privation is the only
solution. (Rewrite beginning with:

Solution........... )

The D'istrict Collector is concerned about the rapid increase
in the number of road accidents in Kolkata. The Chairman,
Municipal Corporation. Kolkata, has been asked to submit a
report investigating on that. Give the causes and suggest
measures to improve the situation. Prepare a manuscript

report on this.
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: | \
Write a job apphc,atlon and prov1de your Resume in rebponee
to the following advertisement on 6 October 2009 in The

Telegraph :

An MNC has vacancy for the post of a Junior Manager, where
the company would be recruiting an engineer with three
years of experienee. Apply within 10 days to The Advertiser’,
' Box No. 8461, The Telegraph, Kolkata-700001.

: s ¥
. Do you feel that electronic means of communication is

always advantageous over the traditional means ? Explain

your answer with suitable examples.

You are the Seeretary'()f the Student's Council of your
college. You have decided to organise a meeting on 14th
December 2011 at the college common room. Prepare an

.dgenda of four issues that need to be dmc*ussed at the

meeting.






